PC12 Trig Functions Practice Test
PreCalc 12

1. Complete the table. [8]
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Name:

f(x) =3cos%(x—n)+1 f(x) = =7sin(4x + ) + 15 f(x) = —tan(2x) — 6
|
Amplitude 3 1 none (_:::‘?:nf"
. YA 2n _ T -
Period Nz = 4ym el _E_ -
Phase shift TC Yy (’X t E) ‘% none
Equation of - = -
centre line y =1 7 =15 y = -6
al
Range -2¢y <y 8¢y <22 yekem‘;‘g;f'
-34y¢ 3 -7 ¢y £7
+1 +1 t1S 1S
2. Write one sine equation and one cosine equation for each graph. [8]
R % amplitude = 2
A N / Period=2m-’b=1
.".‘E 2 5K ; 3n/2 2mn /2 Centre ll‘ne : y= ’1
LT 55( LMHL_ER INEERNANN
N / y = 2sin(x- 3) -1
T -, y = 2cos(x-) -1
y ==2e08 (X+ $)-1 y=—Zsin(9&-"?")-1
b)

amplitude = 2

y=-2€os'§_('xr1)-5

=X |'Od=‘-l"7b=-2%£=
Centre line: y=~3

y=-28inF(%X-2)-3

K
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y = 2sin Tx -3
y = 2(08"25-(‘)( -1)-3



3. Sketch the graph of y = =3 sinx — 1 for =27 < 6 < 2m. [3] -y<y<2 stan‘n‘ns point @ (0,-1)
jod =21 T
; Percod no phase shiftT centre line

sine

4. Sketch the graph of y = —sin (2x) + 3 for =3 <6 <3.[3] 24y<H

sfad'inj point@ (0 3)
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5 3 1 0 1 3 g

5. Sketch the graph of y = 2 cos (2 (x - g)) for—2r <0 <2m[3] -2¢ y £2 Sfarh',B P.‘n-}@ (% ,Z)
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- Cosine omplitude=I5  centre line
6. Passengers get onto a Ferris wheel at a minimum height. The wheel has a radius of 15 m and its centre is

18 m above the ground. It takes 20 seconds for the wheel to make one complete turn. Determine an equation
which represents the height, # metres,\in terms of time, ¢ seconds, of a person from the time they get on. [2]

Penod 20 - .
b= wif given max g min helahh then...
IO GM‘P'HUdC - MGX;MI"'I
h(t) = -l5cos-,7%t +18

centre line = Max ;:mm

What is the maximum height of a person on this ride? [1]

18+15=3%m

phase shift =3 haif cycle » period
7. The depth of water at a seaport reaches a maximum of 16 m at|3:00 am.|Approximately 6.2 hours later, it = |2 U

reaches a minimum depth of 4 m. Write an equation representing the depth of water, d metres, at time 7. [4]

amplitude = = ot ., centre live < fetd- 10 b=

6.2.

d(b) = (ocos (t 3) +10

What is the depth of water at 2:45pm? (Hint: Your 7 value should be in 24 hour time and converted to decimal form.) [2]

b y:u5 -
=|4.75
ii = 0.15
60

d(4Ts) = é,cosblz(ms-a) t10

15.68 m







